# Further study of a fourth-order elliptic equation with negative exponent

## Zongming Guo and Zhongyuan Liu

Department of Mathematics, Henan Normal University, Xinxiang 453007, People's Republic of China (guozm@public.xxptt.ha.cn; liuzhongyuan1984@yahoo.com.cn)

(MS received 10 July 2009; accepted 25 August 2010)

We continue to study the nonlinear fourth-order problem  $T\Delta u - D\Delta^2 u = \lambda/(L+u)^2$ , -L < u < 0 in  $\Omega$ , u = 0,  $\Delta u = 0$  on  $\partial\Omega$ , where  $\Omega \subset \mathbb{R}^N$  is a bounded smooth domain and  $\lambda > 0$  is a parameter. When N = 2 and  $\Omega$  is a convex domain, we know that there is  $\lambda_c > 0$  such that for  $\lambda \in (0, \lambda_c)$  the problem possesses at least two regular solutions. We will see that the convexity assumption on  $\Omega$  can be removed, i.e. the main results are still true for a general bounded smooth domain  $\Omega$ . The main technique in the proofs of this paper is the blow-up argument, and the main difficulty is the analysis of touch-down behaviour.

#### 1. Introduction

We consider the structure of solutions to the problem

$$T\Delta u - D\Delta^2 u = \frac{\lambda}{(L+u)^2} \quad \text{in } \Omega, \\ -L < u < 0 \qquad \text{in } \Omega, \\ u = \Delta u = 0 \qquad \text{on } \partial\Omega, \end{cases}$$

$$(P_{\lambda})$$

where  $\lambda > 0$  is a parameter, T > 0, D > 0 and L > 0 are fixed constants, and  $\Omega \subset \mathbb{R}^N (N \ge 2)$  is a bounded smooth domain.

Problem  $(P_{\lambda})$  arises in the study of the deflection of charged plates in electrostatic actuators (see [5]). It is known from [5] that there exists  $0 < \lambda_{\rm c} < \infty$  such that, for  $\lambda \in (0, \lambda_{\rm c})$ ,  $(P_{\lambda})$  has a maximal regular solution  $u_{\lambda}$ , which can be obtained from an iterative scheme. (By a regular solution  $u_{\lambda}$  of  $(P_{\lambda})$ , we mean that  $u_{\lambda} \in C^4(\Omega) \cap C^3(\overline{\Omega})$  satisfies  $(P_{\lambda})$ .)

When N = 2 and  $\Omega$  is a convex domain, Guo and Wei [4] obtained two solutions of  $(P_{\lambda})$  for  $\lambda \in (0, \lambda_c)$ : the maximal and a mountain-pass solution. To obtain such results, they showed that all the solutions of  $(P_{\lambda})$  are regular for  $\lambda \in (0, \lambda_c)$  by using the convexity of  $\Omega$  and some good properties of Green's function in the twodimensional case. In this paper, we will see that the convexity assumption on  $\Omega$ can be removed. The main result of this paper is the following theorem.

THEOREM 1.1. Let  $\Omega$  be a bounded smooth domain in  $\mathbb{R}^2$ . For  $\lambda \in (0, \lambda_c]$ , any solution of the problem  $(P_{\lambda})$  is regular and the following hold.

© 2011 The Royal Society of Edinburgh

- (i) For 0 < λ < λ<sub>c</sub>, problem (P<sub>λ</sub>) admits two regular solutions: the maximal and a mountain-pass solution.
- (ii) For  $\lambda = \lambda_c$ , problem  $(P_{\lambda})$  admits a unique regular solution.
- (iii) For  $\lambda > \lambda_c$ , problem  $(P_{\lambda})$  admits no regular solution.

To remove the convexity of  $\Omega$ , we need some non-existence results for complete solutions of the equation

$$-D\Delta^2 W = W^{-2} \quad \text{in } \mathbb{R}^2. \tag{1.1}$$

We consider an equivalent form of  $(P_{\lambda})$ :

$$-T\Delta v + D\Delta^2 v = \frac{\lambda}{(L-v)^2} \quad \text{in } \Omega, \\ 0 < v < L \qquad \text{in } \Omega, \\ v = \Delta v = 0 \qquad \text{on } \partial\Omega. \end{cases}$$
(T<sub>\lambda</sub>)

 $(T_{\lambda} \text{ is equivalent to } (P_{\lambda}) \text{ by taking } u = -v.)$  Note that  $v \in C^4(\Omega) \cap C^3(\overline{\Omega})$  provided that v is a regular solution of  $(T_{\lambda})$ . Moreover, if  $u_{\lambda}$  is a maximal solution of  $(P_{\lambda})$ , then  $v_{\lambda}$  is a minimal solution of  $(T_{\lambda})$ . We also know from the strong maximum principle that if  $v_{\lambda}$  is a regular solution of  $(T_{\lambda})$ , then

$$\Delta v_{\lambda} < 0 \quad \text{in } \Omega. \tag{1.2}$$

In this paper, we use C to denote a universal constant.

## 2. Non-existence of entire solution of (1.1)

In this section we will show that (1.1) does not admit a smooth positive solution. In the following, we present the proof for a general form of (1.1):

$$-D\Delta^2 W = W^{-p} \quad \text{in } \mathbb{R}^2, \tag{2.1}$$

where p > 0.

THEOREM 2.1. If p > 0, (2.1) admits no classical positive solution.

To prove this theorem, we first show the following lemmas.

LEMMA 2.2 (Gilbarg and Trudinger [3]). Assume that  $w \in C^2(\mathbb{R}^2)$  satisfies  $\Delta w \ge 0$  and  $w \le C$  in  $\mathbb{R}^2$ . Then  $w \equiv \text{const.}$  in  $\mathbb{R}^2$ .

It follows from lemma 2.2 that if  $w \in C^2(\mathbb{R}^2)$  satisfies  $\Delta w \leq 0$  and  $w \geq C$  in  $\mathbb{R}^2$ , then  $w \equiv C$  in  $\mathbb{R}^2$ . Note that -w satisfies the assumptions in lemma 2.2.

LEMMA 2.3. Assume that  $W \in C^4(\mathbb{R}^2)$  is a positive solution of (2.1). Then  $\Delta W > 0$  in  $\mathbb{R}^2$ .

*Proof.* We first claim that

$$\Delta W \ge 0 \quad \text{in } \mathbb{R}^2. \tag{2.2}$$

## A fourth-order elliptic equation with negative exponent

On the contrary, there is a point  $x_0 \in \mathbb{R}^2$  such that  $\Delta W(x_0) < 0$ . Defining

$$\bar{W}(r) = \frac{1}{2\pi r} \int_{\partial B_r(x_0)} W \, \mathrm{d}\sigma \quad \text{and} \quad \bar{Z}(r) = \frac{1}{2\pi r} \int_{\partial B_r(x_0)} \Delta W \, \mathrm{d}\sigma$$

since the function  $s^{-p}$  is convex for  $s \in (0, \infty)$ , we see from Jensen's inequality that

$$\overline{W^{-p}} \geqslant \bar{W}^{-p}.$$

Then

$$\Delta \bar{W} - \bar{Z} = 0 \quad \text{and} \quad \Delta \bar{Z} + D^{-1} \bar{W}^{-p} \leqslant 0.$$
(2.3)

Since  $\Delta \bar{Z} = (1/r)(r\bar{Z}')' \leq 0$ , we see that  $(r\bar{Z}')' \leq 0$ . Therefore,  $\bar{Z}'(r) \leq 0$  (note that  $\lim_{r\to 0} r\bar{Z}'(r) = 0$ ). This implies that  $\bar{Z}(r) \leq \bar{Z}(0) < 0$  for all r > 0 (note that  $\Delta W(x_0) < 0$ ). We then obtain that  $\Delta \bar{W} \leq \bar{Z}(0)$ . Therefore,

$$\bar{W}'(r) \leqslant \frac{1}{2}r\bar{Z}(0). \tag{2.4}$$

This implies

$$\bar{W}(r) - \bar{W}(0) \leqslant \frac{1}{4}\bar{Z}(0)r^2.$$

Since  $\Delta W(x_0) < 0$ , we see that  $\bar{Z}(0) = \Delta W(x_0) < 0$ . We then obtain that  $\bar{W}(r) < 0$  provided that r is sufficiently large. This is clearly impossible since we have assumed that W is positive everywhere. Our claim (2.2) holds.

Now we claim

$$\Delta W > 0 \quad \text{in } \mathbb{R}^2. \tag{2.5}$$

On the contrary, there is  $x_1 \in \mathbb{R}^2$  such that  $\Delta W(x_1) = 0$ . This implies that  $x_1$  is a minimum point of  $\Delta W$ . Thus,  $\Delta(\Delta W)(x_1) \ge 0$ . This contradicts  $\Delta^2 W(x_1) = -(1/D)W^{-p}(x_1) < 0$  and our claim (2.5) holds.

*Proof of theorem 2.1.* Suppose that W > 0 is a classical solution of (2.1). It follows from lemma 2.3 that

$$\Delta W > 0 \quad \text{in } \mathbb{R}^2.$$

Since  $\Delta(\Delta W) \leq 0$  in  $\mathbb{R}^2$ , we see from lemma 2.2 and the comments after it that

$$\Delta W \equiv \text{const.} \quad \text{in } \mathbb{R}^2.$$

This is clearly impossible since  $\Delta(\Delta W) = -(1/D)W^{-p}$ . This completes the proof of theorem 2.1.

REMARK 2.4. Arguments similar to those in the proof of theorem 2.1 imply that the equation

$$-D\Delta^2 Z = f(Z) \quad \text{in } \mathbb{R}^2$$

does not admit a classical lower-bound solution Z satisfying  $f(Z) \ge 0$  and  $f(Z) \not\equiv 0$ in  $\mathbb{R}^2$  and f(s) is a convex function of  $s \in (\inf_{\Omega} Z, \sup_{\Omega} Z)$ .

In the following we consider the equation

$$D\Delta^2 W = h(W) \quad \text{in } \mathbb{R}^2, \tag{2.6}$$

https://doi.org/10.1017/S0308210509001061 Published online by Cambridge University Press

where

540

$$h(s) = \begin{cases} 0 & \text{for } 0 < s \leq L \\ \frac{s^2}{L} - L & \text{for } s > L. \end{cases}$$

We have the following theorem.

THEOREM 2.5. Equation (2.6) admits no bounded classical positive solution W satisfying  $\sup_{\mathbb{R}^2} W > L$ . Equation (2.6) admits only the constant positive solution  $W \equiv \sup_{\mathbb{R}^2} W$  provided that  $\sup_{\mathbb{R}^2} W \leq L$ .

*Proof.* We use the notation as above. The proof is divided into two steps:

- (i)  $\sup_{\mathbb{R}^2} W > L$ ,
- (ii)  $\sup_{\mathbb{R}^2} W \leq L$ .

For case (i), we show

$$\Delta W \leqslant 0 \quad \text{in } \mathbb{R}^2,$$

which implies that  $\Delta W \equiv \text{const.}$  by lemma 2.2. But this contradicts  $\Delta^2 W = h(W) \neq 0$ .

Assume that there is a point  $x_0 \in \mathbb{R}^2$  such that  $\Delta W(x_0) > 0$ . Then

 $\Delta \bar{W} = \bar{Z}, \qquad D\Delta \bar{Z} \ge h(\bar{W}), \qquad \bar{Z}(0) > 0$ 

(note that h is a convex function). Thus, we have  $(r\bar{Z}')' \ge 0$  and hence  $\bar{Z}'(r) \ge 0$ . Therefore,

 $\bar{Z}(r) \ge \bar{Z}(0)$  for r > 0.

This implies

$$(r\bar{W}'(r))' \ge r\bar{Z}(0)$$

and

$$\bar{W}(r) - \bar{W}(0) \ge \frac{1}{4}\bar{Z}(0)r^2.$$

This and the fact  $\overline{Z}(0) > 0$  derive a contradiction since W is bounded. Thus  $\Delta W \leq 0$ . This completes the proof of (i).

For case (ii), we see that  $\Delta^2 W \equiv 0$  in  $\mathbb{R}^2$ . Since the proof above implies  $\Delta W \leq 0$ , we see that  $\Delta W \equiv C$  in  $\mathbb{R}^2$  by lemma 2.2. Noting that  $\Delta W \leq 0$ , we have  $C \leq 0$  and  $\overline{W}(r) = \overline{W}(0) + \frac{1}{4}Cr^2$ . We can obtain C = 0 since W > 0. Thus,  $\Delta W \equiv 0$  in  $\mathbb{R}^2$  and

$$W \equiv \sup_{\mathbb{R}^2} W \quad \text{in } \mathbb{R}^2.$$

This completes the proof of (ii).

## 3. Proof of theorem 1.1

In this section, we present the proof of theorem 1.1. Instead of proving theorem 1.1, we show the following theorem.

THEOREM 3.1. Let  $\Omega$  be a bounded smooth domain in  $\mathbb{R}^2$ . For  $\lambda \in (0, \lambda_c]$ , any solution of the problem  $(T_{\lambda})$  is regular and the following hold.

We have the following

541

- (i) For  $0 < \lambda < \lambda_c$ , problem  $(T_{\lambda})$  admits two regular solutions: the minimal and a mountain-pass solution.
- (ii) For  $\lambda = \lambda_c$ , problem  $(T_{\lambda})$  admits a unique regular solution.
- (iii) For  $\lambda > \lambda_c$ , problem  $(T_{\lambda})$  admits no regular solution.

The proof of (ii) and (iii) is known from [4]. We only need to show (i).

Let  $\mathcal{H} = H^2(\Omega) \cap H^1_0(\Omega)$  be the function space obtained by taking the completion under the norm of  $H^2(\Omega) \cap H^1_0(\Omega)$  (i.e.  $\|\psi\| = (\int_{\Omega} [T|\nabla \psi|^2 + D|\Delta \psi|^2] dx)^{1/2}$ ) for the set of smooth functions that satisfy the boundary condition  $\psi = \Delta \psi = 0$  on  $\partial \Omega$ . We first obtain the following lemma.

LEMMA 3.2. For any fixed  $\lambda > 0$ , if  $v \in \mathcal{H}$  is a positive solution of  $(T_{\lambda})$ , then there exists  $0 < \tau < L$  depending on  $\lambda$  but independent of v and locally independent of  $\lambda$  such that  $v \leq L - \tau$  in  $\Omega$ . This also implies that all the positive solutions of  $(T_{\lambda})$  in  $\mathcal{H}$  are regular.

*Proof.* The embedding theorem implies that  $v \in C^{\alpha}(\overline{\Omega})$  for any  $0 < \alpha < 1$ . Then there is  $x_{\lambda} \in \Omega$  such that  $v(x_{\lambda}) = \max_{\Omega} v$ .

Suppose that there are  $\lambda_0 > 0$  and sequences  $\{\lambda_i\}$  and  $\{v_i\} \equiv \{v_{\lambda_i}\}$  with  $\max_{\Omega} v_i = L - \varepsilon_i$  such that  $\lambda_i \to \lambda_0$ ,  $\varepsilon_i \to 0$  as  $i \to \infty$ . Then  $v_i \in C^4(\Omega) \cap C^3(\overline{\Omega})$ . Denoting  $x_i = x_{\lambda_i}$  and choosing subsequences if necessary, we consider two cases:

- (i)  $\lambda_i^{1/4} \varepsilon_i^{-3/4} \operatorname{dist}(x_i, \partial \Omega) \to \infty \text{ as } i \to \infty;$
- (ii)  $\lambda_i^{1/4} \varepsilon_i^{-3/4} \operatorname{dist}(x_i, \partial \Omega) \leqslant M$  for any i.

For the first case, making the transformation  $w_i = L - v_i$ , we see that  $w_i$  with  $\min_{\Omega} w_i = \varepsilon_i$  satisfies the problem

$$T\Delta w_i - D\Delta^2 w_i = \lambda_i w_i^{-2}$$
 in  $\Omega$ ,  $w_i = L$ ,  $\Delta w_i = 0$  on  $\partial \Omega$ .

Note that  $w_i(x_i) = \min_{\Omega} w_i$ . Setting  $\tilde{w}_i(y) = w_i/\varepsilon_i$  and  $y = \lambda_i^{1/4} \varepsilon_i^{-3/4}(x - x_i)$ , we see that  $\tilde{w}_i$  with  $\tilde{w}_i(0) = \min_{\Omega_i} \tilde{w}_i = 1$  and  $\tilde{w}_i$  satisfies the problem

$$\lambda_i^{-1/2} \varepsilon_i^{3/2} T \Delta_y \tilde{w}_i - D \Delta_y^2 \tilde{w}_i = \tilde{w}_i^{-2} \quad \text{in } \Omega_i, \quad \tilde{w}_i = \frac{L}{\varepsilon_i}, \quad \Delta_y \tilde{w}_i = 0 \quad \text{on } \partial \Omega_i, \quad (3.1)$$

where  $\Omega_i = \{y = \lambda_i^{1/4} \varepsilon_i^{-3/4} (x - x_i) : x \in \Omega\}$ . Note that  $\tilde{w}_i \ge 1$  and  $\tilde{w}_i^{-2} \le 1$  in  $\Omega_i$ . It follows from the regularity of the operator  $T\Delta - D\Delta^2$  that  $\tilde{w}_i \to W$  in  $C^3_{\text{loc}}(\mathbb{R}^2)$  as  $i \to \infty$ , where  $W \in C^4(\mathbb{R}^2)$  with W(0) = 1 and  $W \ge 1$  in  $\mathbb{R}^2$  satisfies the equation

$$-D\Delta^2 W = W^{-2} \quad \text{in } \mathbb{R}^2, \qquad W(0) = 1. \tag{3.2}$$

It is known from theorem 2.1 that this is impossible.

For the second case, we denote  $\eta_i \in \partial \Omega$  such that  $\operatorname{dist}(x_i, \eta_i) = \operatorname{dist}(x_i, \partial \Omega)$ . We see that  $\eta_i \to \eta_0 \in \partial \Omega$  as  $i \to \infty$  (we can choose subsequences if necessary). We also see that

$$-T\Delta v_i + D\Delta^2 v_i = \lambda_i \varepsilon_i^{-3} \left(\frac{L - v_i}{\varepsilon_i^{3/2}}\right)^{-2} \quad \text{in } \Omega, \quad v_i = \Delta v_i = 0 \quad \text{on } \partial\Omega.$$
(3.3)

Noticing that  $(L - v_i)/\varepsilon_i \ge 1$ , we see that

$$\frac{L-v_i}{\varepsilon_i^{3/2}}=\varepsilon_i^{-1/2}\frac{L-v_i}{\varepsilon_i}\geqslant 1\quad\text{and}\quad\frac{L-v_i}{\varepsilon_i^{3/2}}\rightarrow+\infty\quad\text{in }\Omega\text{ as }i\rightarrow\infty.$$

We also see from (1.2) that  $\Delta v_i < 0$  in  $\Omega$ . Making the transformations:

$$y = \lambda_i^{1/4} \varepsilon_i^{-3/4} (x - \eta_i), \qquad \hat{v}_i(y) = v_i,$$

we see that  $\hat{v}_i$  satisfies the problem

$$-T\lambda_i^{-1/2}\varepsilon_i^{3/2}\Delta_y \hat{v}_i + D\Delta_y^2 \hat{v}_i = \left(\frac{L-\hat{v}_i}{\varepsilon_i^{3/2}}\right)^{-2} \quad \text{in } \hat{\Omega}_i, \quad \hat{v}_i = \Delta_y \hat{v}_i = 0 \quad \text{on } \partial \hat{\Omega}_i,$$

$$(3.4)$$

where  $\hat{\Omega}_i = \{y = \lambda_i^{1/4} \varepsilon_i^{-3/4} (x - \eta_i) : x \in \Omega\}$ . Since  $((L - \hat{v}_i)/\varepsilon_i^{3/2})^{-2} \leq 1$  in  $\hat{\Omega}_i$ , the regularity of  $\Delta^2$  implies that  $|\Delta_y \hat{v}_i|$  is uniformly bounded. By the regularity of  $\Delta^2$  and a similar blow-up argument to that in [1], we see that  $\hat{v}_i \to \hat{V}$  in  $C_{\text{loc}}^3(\Gamma)$  as  $i \to \infty$  (we can choose subsequences if necessary) and  $\hat{V} \in C^4(\Gamma) \cap C^3(\Gamma \cup \partial\Gamma)$  with  $\hat{V} \leq L$ ,  $|\Delta \hat{V}|$  being bounded and  $\Delta \hat{V} \leq 0$  in  $\Gamma$  satisfies the problem

$$D\Delta^2 \hat{V} \equiv 0 \quad \text{in } \Gamma, \quad \hat{V} = \Delta \hat{V} = 0 \quad \text{on } \partial \Gamma,$$
(3.5)

where  $\Gamma = \{y = (y_1, y_2) \in \mathbb{R}^2 : y_1 > 0\}$  and there is an  $\eta \in \Gamma$  with dist $(0, \eta) \leq M$ such that  $\hat{V}(\eta) = L$ . Using Green's expression of the solution h of the problem  $\Delta h = 0$  in  $\Gamma$  and h = 0 on  $\partial \Gamma$ , we easily see that  $h \equiv 0$  in  $\Gamma$ . This implies that  $\Delta \hat{V} \equiv 0$  in  $\Gamma$  and hence  $\hat{V} \equiv 0$  in  $\Gamma$ . But this contradicts the fact that  $\hat{V}(\eta) = L$ . These contradictions complete the proof of this lemma.

Proof of theorem 3.1. We modify the nonlinearity as in [4]. Since the nonlinearity  $g(v) = 1/(L-v)^2$  is singular at v = L, we need to consider a regularized  $C^1$  nonlinearity  $g_{\varepsilon}(v), 0 < \varepsilon < L$ , of the following form:

$$g_{\varepsilon}(v) = \begin{cases} \frac{1}{(L-v)^2}, & v \leq L-\varepsilon, \\ \frac{1}{\varepsilon^2} - \frac{L-\varepsilon}{\varepsilon^3} + \frac{1}{\varepsilon^3(L-\varepsilon)}v^2, & v > L-\varepsilon. \end{cases}$$

For  $\lambda \in (0, \lambda_c)$ , we study the regularized semilinear elliptic problem:

$$-T\Delta v + D\Delta^2 v = \lambda g_{\varepsilon}(v) \quad \text{in } \Omega, \quad v = \Delta v = 0 \quad \text{on } \partial\Omega.$$
(3.6)

From a variational viewpoint, the action functional associated to (3.6) is

$$J_{\varepsilon,\lambda}(v) = \frac{1}{2} \int_{\Omega} [T|\nabla v|^2 + D(\Delta v)^2] \,\mathrm{d}x - \lambda \int_{\Omega} G_{\varepsilon}(v) \,\mathrm{d}x, \quad v \in \mathcal{H},$$

where

$$G_{\varepsilon}(v) = \int_{-\infty}^{v} g_{\varepsilon}(s) \,\mathrm{d}s.$$

By arguments similar to those in the proof (i) of theorem 7.1 in [4] (see also lemmas 7.3 and 7.4 in [4]), we can obtain a mountain-pass solution  $V_{\varepsilon,\lambda} \in \mathcal{H}$  of (3.6)

https://doi.org/10.1017/S0308210509001061 Published online by Cambridge University Press

such that

$$\|V_{\varepsilon,\lambda}\|_{\mathcal{H}} \leqslant C, \tag{3.7}$$

543

where C > 0 is independent of  $\varepsilon$ . The embedding  $\mathcal{H} \hookrightarrow C^0(\bar{\Omega})$  implies  $V_{\varepsilon,\lambda} \leq C$  in  $\Omega$ . Moreover, since  $V_{\varepsilon,\lambda} \in \mathcal{H}$  is a solution of (3.6), multiplying  $V_{\varepsilon,\lambda}$  on both sides of (3.6), we see from (3.7) that

$$\int_{\Omega} g_{\varepsilon}(V_{\varepsilon,\lambda}) V_{\varepsilon,\lambda} \, \mathrm{d}x \leqslant \frac{C}{\lambda},\tag{3.8}$$

where C > 0 is independent of  $\varepsilon$ .

We want to show that

$$V_{\varepsilon,\lambda} \leqslant L - \varepsilon \quad \text{in } \Omega.$$
 (3.9)

This implies that  $V_{\varepsilon,\lambda}$  is a solution of  $(T_{\lambda})$ .

We claim that if there is a sequence  $\{\varepsilon_i\}$  with  $\varepsilon_i \to 0$  as  $i \to \infty$  such that  $\max_{\Omega} V_{\varepsilon_i,\lambda} > L - \varepsilon_i$ , then

$$\max_{\Omega} V_{\varepsilon_i,\lambda} \to L \quad \text{as } i \to \infty.$$
(3.10)

To show this claim, we denote  $V_{\varepsilon_i,\lambda}(x_i) = \max_{\Omega} V_{\varepsilon_i,\lambda}$ . Since  $V_{\varepsilon_i,\lambda} \leq C$  in  $\Omega$ , we see from the regularity of  $\Delta^2$  that  $V_{\varepsilon_i,\lambda} \in C^4(\Omega) \cap C^3(\overline{\Omega})$ . The maximum principle implies that

$$V_{\varepsilon_i,\lambda} > 0, \qquad \Delta V_{\varepsilon_i,\lambda} < 0 \quad \text{in } \Omega.$$
 (3.11)

We first show

$$\lambda^{1/4} \varepsilon_i^{-3/4} \operatorname{dist}(x_i, \partial \Omega) \to \infty \quad \text{as } i \to \infty.$$
 (3.12)

(We can choose subsequences if necessary.) On the contrary, we have that

$$\lambda^{1/4} \varepsilon_i^{-3/4} \operatorname{dist}(x_i, \partial \Omega) \leqslant M \quad \forall i.$$
(3.13)

Writing the equation of  $V_{\varepsilon_i,\lambda}$  as

$$-T\Delta V_{\varepsilon_i,\lambda} + D\Delta^2 V_{\varepsilon_i,\lambda} = \lambda \varepsilon_i^{-3} (\varepsilon_i^3 g_{\varepsilon}(V_{\varepsilon_i,\lambda})) \quad \text{in } \Omega, \quad V_{\varepsilon_i,\lambda} = \Delta V_{\varepsilon_i,\lambda} = 0 \quad \text{on } \partial\Omega,$$
(3.14)

and setting

$$y = \lambda^{1/4} \varepsilon_i^{-3/4} (x - \eta_i), \qquad \tilde{V}_{i,\lambda}(y) = V_{\varepsilon_i,\lambda}(x),$$

where  $\eta_i \in \partial \Omega$  such that  $\operatorname{dist}(x_i, \eta_i) = \operatorname{dist}(x_i, \partial \Omega)$ , by blow-up arguments similar to those in the second case of the proof of lemma 3.2, we see that  $\tilde{V}_{i,\lambda} \to \tilde{V}$  in  $C^3_{\operatorname{loc}}(\Gamma)$  as  $i \to \infty$ . Moreover,  $\tilde{V} \in C^4(\Gamma)$  with  $L \leq \max_{\Gamma} \tilde{V} \leq C$ ,  $\Delta \tilde{V} \leq 0$ , and  $|\Delta \tilde{V}|$  being bounded, satisfies

$$D\Delta^2 \tilde{V} = h(\tilde{V}) \quad \text{in } \Gamma, \quad \tilde{V} = \Delta \tilde{V} = 0 \quad \text{on } \partial \Gamma,$$
 (3.15)

where

$$h(s) = \begin{cases} 0 & \text{for } 0 < s \le L, \\ \frac{s^2}{L} - L & \text{for } s > L. \end{cases}$$
(3.16)

https://doi.org/10.1017/S0308210509001061 Published online by Cambridge University Press

Moreover, there is  $\eta \in \Gamma$  with dist $(0, \eta) \leq M$  such that  $\tilde{V}(\eta) = \max_{\Gamma} \tilde{V}$ . Note that  $h \in C^1((0, \infty) \setminus \{L\})$  is a non-decreasing function. Let  $\tilde{W} = -\Delta \tilde{V}$ . Then (3.15) can be written as

$$\begin{array}{l} -\Delta V = W & \text{in } \Gamma, \\ -\Delta \tilde{W} = \frac{1}{D} h(\tilde{V}) & \text{in } \Gamma, \\ \tilde{V} = \tilde{W} = 0 & \text{on } \partial \Gamma. \end{array} \right\}$$
(3.17)

There are two cases: (i)  $\max_{\Gamma} \tilde{V} = L$ ; (ii)  $\max_{\Gamma} \tilde{V} > L$ . For the first case, we see that  $\tilde{V}$  satisfies

$$\Delta^2 V = 0$$
 in  $\Gamma$ ,  $V = \Delta V = 0$  on  $\partial \Gamma$ .

It is easily seen that  $\tilde{V} \equiv 0$  in  $\Gamma$ . This is clearly impossible.

For the second case, theorem 4 of [2] implies that

$$\frac{\partial \dot{V}}{\partial y_1} > 0 \quad \text{and} \quad \frac{\partial \dot{W}}{\partial y_1} > 0 \quad \text{for } y_1 > 0.$$
 (3.18)

This contradicts  $\tilde{V}(\eta) = \max_{\Gamma} \tilde{V}$ . (Note that  $h \in C^1((0, \infty) \setminus \{L\})$  here. Since h is Lipschitz continuous, arguments in the proof of theorem 4 of [2] still work for our case. The continuous differentiability assumption in [2] can be avoided if the equation system does not admit semitrivial solutions and the nonlinearities are  $C^1$  near zero. This is true for our case here.) Thus, (3.12) holds.

Now, making the transformations

$$y = \lambda^{1/4} \varepsilon_i^{-3/4} (x - x_i), \qquad \hat{V}_{i,\lambda}(y) = V_{\varepsilon_i,\lambda}(x),$$

we see from (3.12) that  $\hat{V}_{i,\lambda} \to \hat{V}$  in  $C^3_{\text{loc}}(\mathbb{R}^2)$  as  $i \to \infty$  (we can choose subsequences if necessary). We also know that  $L \leq \hat{V}(0) = \max_{\mathbb{R}^2} \hat{V} \leq C$ ,  $|\Delta \hat{V}| \leq C$ , and  $\hat{V}$  satisfies the equation

$$D\Delta^2 \hat{V} = h(\hat{V}) \quad \text{in } \mathbb{R}^2, \tag{3.19}$$

where the function h(s) is defined in (3.16). Arguments similar to those in case (i) of the proof of theorem 2.5 implies that  $\hat{V}(0) = L$ . It is also known from theorem 2.5 that  $\hat{V} \equiv L$  in  $\mathbb{R}^2$ . This implies that

$$V_{\varepsilon_i,\lambda}(x_i) = \max_{\Omega} V_{\varepsilon_i,\lambda} \to L \quad \text{as } i \to \infty$$
(3.20)

and our claim (3.10) holds.

Now we show (3.9). On the contrary, there is a sequence  $\{\varepsilon_i\}$  with  $\varepsilon_i \to 0$  as  $i \to \infty$  such that  $\max_{\Omega} V_{\varepsilon_i,\lambda} > L - \varepsilon_i$ . Thus, (3.20) holds. There are three cases to consider (we can choose subsequences if necessary):

- (i)  $V_{\varepsilon_i,\lambda}(x_i) = L + \xi_i$ ,
- (ii)  $V_{\varepsilon_i,\lambda}(x_i) = L$  for all i,
- (iii)  $V_{\varepsilon_i,\lambda}(x_i) = L \xi_i$  with  $\xi_i < \varepsilon_i$ ,

where  $\xi_i > 0$  and  $\xi_i \to 0$  as  $i \to \infty$ .

For the first case, we show

$$\frac{\varepsilon_i}{\xi_i} \not\to 0 \quad \text{as } i \to \infty. \tag{3.21}$$

(We can choose subsequences if necessary.) On the contrary, there is a sequence  $\{\varepsilon_i/\xi_i\}$  such that  $\varepsilon_i/\xi_i \to 0$  as  $i \to \infty$ . Set  $Z_i = L - V_i$ , where  $\{V_i\} \equiv \{V_{\varepsilon_i,\lambda}\}$ . Then  $Z_i(x_i) := \min_{\Omega} Z_i = -\xi_i$  and  $Z_i$  satisfies

$$T\Delta Z_i - D\Delta^2 Z_i = \lambda k_i(Z_i)$$
 in  $\Omega$ ,  $Z_i = L, \Delta Z_i = 0$  on  $\partial \Omega$ .

where

$$k_i(Z_i) = \begin{cases} \frac{1}{Z_i^2}, & Z_i \ge \varepsilon_i, \\ \frac{1}{\varepsilon_i^2} + \frac{2(\varepsilon_i - Z_i)}{\varepsilon_i^3} + \frac{(\varepsilon_i - Z_i)^2}{\varepsilon_i^3(L - \varepsilon_i)}, & Z_i < \varepsilon_i. \end{cases}$$

Making the transformations  $\tilde{Z}_i(y) = Z_i/\xi_i$  and  $y = \varepsilon_i^{-3/4}(x - x_i)$ , we can see that  $\tilde{Z}_i(0) = \min_{\Omega} \tilde{Z}_i = -1$  and  $\tilde{Z}_i$  satisfies the problem

$$\varepsilon_i^{3/2} T \Delta_y \tilde{Z}_i - D \Delta_y^2 \tilde{Z}_i = \lambda \tilde{k}_i(\tilde{Z}_i) \quad \text{in } \tilde{\Omega}_i, \quad \tilde{Z}_i = L/\xi_i, \quad \Delta_y \tilde{Z}_i = 0 \quad \text{on } \partial \tilde{\Omega}_i, \quad (3.22)$$

where  $\tilde{\Omega}_i = \{ y = \varepsilon_i^{-3/4} (x - x_i) \colon x \in \Omega \}$  and

$$\tilde{k}_{i}(\tilde{Z}_{i}) = \begin{cases} \frac{1}{\tilde{Z}_{i}^{2}} \left(\frac{\varepsilon_{i}}{\xi_{i}}\right)^{3}, & \tilde{Z}_{i} \geqslant \frac{\varepsilon_{i}}{\xi_{i}}, \\ 3\left(\frac{\varepsilon_{i}}{\xi_{i}}\right) - 2\tilde{Z}_{i} + \frac{\varepsilon_{i}^{2}}{\xi_{i}(L - \varepsilon_{i})} - 2\left(\frac{\varepsilon_{i}}{L - \varepsilon_{i}}\right)\tilde{Z}_{i} + \left(\frac{\xi_{i}}{L - \varepsilon_{i}}\right)\tilde{Z}_{i}^{2}, & \tilde{Z}_{i} < \frac{\varepsilon_{i}}{\xi_{i}}. \end{cases}$$

Since  $\varepsilon_i/\xi_i \to 0$  as  $i \to \infty$ , we see that  $\{|\tilde{k}_i(\tilde{Z}_i)|\}$  is bounded. Thus, it follows from the regularity of  $\Delta^2$  that  $\tilde{Z}_i \to \tilde{Z}$  in  $C^3_{\text{loc}}(\mathbb{R}^2)$  (note that (3.12) holds) with  $\tilde{Z}(0) = \min_{\mathbb{R}^2} \tilde{Z} = -1$ , and  $\tilde{Z}$  satisfies the equation

$$-D\Delta^2 \tilde{Z} = \lambda \tilde{k}(\tilde{Z}) \quad \text{in } \mathbb{R}^2,$$

where

$$\tilde{k}(\tilde{Z}) = \begin{cases} 0, & Z \ge 0, \\ -2\tilde{Z}, & \tilde{Z} < 0. \end{cases}$$

It is known from remark 2.4 that  $\tilde{Z}$  does not exist. This contradiction implies that (3.21) holds.

Now we show that

$$\frac{\varepsilon_i}{\xi_i} \not\to \infty \quad \text{as } i \to \infty. \tag{3.23}$$

On the contrary, making the transformations  $\hat{Z}_i(y) = Z_i/\varepsilon_i$  and  $y = \varepsilon_i^{-3/4}(x - x_i)$ , we see that  $\hat{Z}_i(0) = \min_{\Omega} \hat{Z}_i = -\xi_i/\varepsilon_i \ (\to 0 \text{ as } i \to \infty)$  and  $\hat{Z}_i$  satisfies the problem

$$\varepsilon_i^{3/2} T \Delta_y \hat{Z}_i - D \Delta_y^2 \hat{Z}_i = \lambda \hat{k}_i(\hat{Z}_i) \quad \text{in } \hat{\Omega}_i, \quad \hat{Z}_i = L/\varepsilon_i, \quad \Delta_y \hat{Z}_i = 0 \quad \text{on } \partial \hat{\Omega}_i, \quad (3.24)$$

https://doi.org/10.1017/S0308210509001061 Published online by Cambridge University Press

where  $\hat{\Omega}_i = \{y = \varepsilon_i^{-3/4} (x - x_i) \colon x \in \Omega\}$  and  $\hat{k}_i(\hat{Z}_i) = \begin{cases} \frac{1}{\hat{Z}_i^2}, & \hat{Z}_i \ge 1, \\ 3 - 2\hat{Z}_i + \frac{\varepsilon_i}{L - \varepsilon_i} - 2\left(\frac{\varepsilon_i}{L - \varepsilon_i}\right)\hat{Z}_i + \left(\frac{\varepsilon_i}{L - \varepsilon_i}\right)\hat{Z}_i^2, & \hat{Z}_i < 1. \end{cases}$ 

It is easily seen that  $\{|\hat{k}_i(\hat{Z}_i)|\}$  is bounded. Therefore, the regularity of  $\Delta^2$  implies that  $\hat{Z}_i \to \hat{Z}$  in  $C^3_{\text{loc}}(\mathbb{R}^2)$  as  $i \to \infty$  with  $\hat{Z}(0) = \min_{\mathbb{R}^2} \hat{Z} = 0$ , and  $\hat{Z}$  satisfies the equation

$$-D\Delta^2 \hat{Z} = \lambda \hat{k}(\hat{Z})$$
 in  $\mathbb{R}^2$ 

where

$$\hat{k}(\hat{Z}) = \begin{cases} \hat{Z}^{-2}, & \hat{Z} \ge 1, \\ 3 - 2\hat{Z}, & \hat{Z} < 1. \end{cases}$$

We know from remark 2.4 that  $\hat{Z}$  does not exist. This contradiction implies that (3.23) holds.

Equations (3.21) and (3.23) imply that there exists  $0 < A_1 < \infty$  such that

$$\frac{\varepsilon_i}{\xi_i} \to A_1 \quad \text{as } i \to \infty. \tag{3.25}$$

(We can choose subsequences if necessary.) Making the transformations  $\underline{Z}_i(y) = Z_i/\xi_i$  and  $y = \xi_i^{-3/4}(x - x_i)$ , we see that  $\underline{Z}_i(0) = \min_{\Omega} \underline{Z}_i = -1$  and  $\underline{Z}_i$  satisfies the problem

 $\xi_i^{3/2} T \Delta_y \underline{Z}_i - D \Delta_y^2 \underline{Z}_i = \lambda \underline{k}_i (\underline{Z}_i) \quad \text{in } \underline{\Omega}_i, \quad \underline{Z}_i = L/\xi_i, \quad \Delta_y \underline{Z}_i = 0 \quad \text{on } \underline{\Omega}_i, \quad (3.26)$ where  $\Omega_i = \{y = \xi_i^{-3/4} (x - x_i) \colon x \in \Omega\}$  and

$$\underline{k}_{i}(\underline{Z}_{i}) = \begin{cases} \frac{1}{Z_{i}^{2}}, & Z_{i} \geqslant \frac{\varepsilon_{i}}{\xi_{i}}, \\ 3\left(\frac{\xi_{i}}{\varepsilon_{i}}\right)^{2} - 2\left(\frac{\xi_{i}}{\varepsilon_{i}}\right)^{3}\underline{Z}_{i} + \frac{\xi_{i}^{2}}{\varepsilon_{i}(L - \varepsilon_{i})} \\ -2\left(\frac{\xi_{i}^{3}}{\varepsilon_{i}^{2}(L - \varepsilon_{i})}\right)\underline{Z}_{i} + \left(\frac{\xi_{i}^{4}}{\varepsilon_{i}^{3}(L - \varepsilon_{i})}\right)\underline{Z}_{i}^{2}, \quad \underline{Z}_{i} < \frac{\varepsilon_{i}}{\xi_{i}}. \end{cases}$$

Note that  $\{|\underline{k}_i(\underline{Z}_i)|\}$  is bounded and  $\xi_i^{-3/4} \operatorname{dist}(x_i, \partial \Omega) \to \infty$  as  $i \to \infty$  (see (3.12)). Thus, the regularity of  $\Delta^2$  implies that  $\underline{Z}_i \to \underline{Z}$  in  $C^3_{\operatorname{loc}}(\mathbb{R}^2)$  as  $i \to \infty$  with  $\underline{Z}(0) =$  $\min_{\mathbb{R}^2} \underline{Z} = -1$ , and  $\underline{Z}$  satisfies the equation

$$-D\Delta^2 \underline{Z} = \lambda \underline{k}(\underline{Z})$$
 in  $\mathbb{R}^2$ .

where

$$\underline{k}(\underline{Z}) = \begin{cases} \underline{Z}^{-2}, & \underline{Z} \ge A_1, \\ \\ \frac{3}{A_1^2} - \frac{2}{A_1^3} \underline{Z}, & \underline{Z} < A_1. \end{cases}$$

We know from remark 2.4 that Z does not exist. This contradiction implies that case (i) does not occur.

# A fourth-order elliptic equation with negative exponent 547

For case (ii), we make the transformations  $\hat{Z}_i(y) = Z_i/\varepsilon_i$  and  $y = \varepsilon_i^{-3/4}(x - x_i)$ . We see that  $\hat{Z}_i(0) = \min_{\Omega} \hat{Z}_i = 0$  and  $\hat{Z}_i$  satisfies the problem

$$\varepsilon_i^{3/2} T \Delta_y \hat{Z}_i - D \Delta_y^2 \hat{Z}_i = \lambda \hat{k}_i(\hat{Z}_i) \quad \text{in } \hat{\Omega}_i, \quad \hat{Z}_i = L/\varepsilon_i, \quad \Delta_y \hat{Z}_i = 0 \quad \text{on } \partial \hat{\Omega}_i, \quad (3.27)$$
  
where  $\hat{\Omega}_i = \{ y = \varepsilon_i^{-3/4} (x - x_i) \colon x \in \Omega \}$  and

$$\hat{k}_i(\hat{Z}_i) = \begin{cases} \frac{1}{\hat{Z}_i^2}, & \hat{Z}_i \geqslant 1, \\ 3 - 2\hat{Z}_i + \frac{\varepsilon_i}{L - \varepsilon_i} - 2\left(\frac{\varepsilon_i}{L - \varepsilon_i}\right)\hat{Z}_i + \left(\frac{\varepsilon_i}{L - \varepsilon_i}\right)\hat{Z}_i^2, & \hat{Z}_i < 1. \end{cases}$$

It is easily seen that  $\{|\hat{k}_i(\hat{Z}_i)|\}$  is bounded. Therefore, the regularity of  $\Delta^2$  implies that  $\hat{Z}_i \to \hat{Z}$  in  $C^3_{\text{loc}}(\mathbb{R}^2)$  as  $i \to \infty$  with  $\hat{Z}(0) = \min_{\mathbb{R}^2} \hat{Z} = 0$ , and  $\hat{Z} \in C^4(\mathbb{R}^2)$  satisfies the equation

$$-D\Delta^2 \hat{Z} = \lambda \hat{k}(\hat{Z}) \quad \text{in } \mathbb{R}^2,$$

where

$$\hat{k}(\hat{Z}) = \begin{cases} \hat{Z}^{-2}, & \hat{Z} \ge 1, \\ 3 - 2\hat{Z}, & \hat{Z} < 1. \end{cases}$$

We know from remark 2.4 that  $\hat{Z}$  does not exist. This contradiction implies that case (ii) does not occur.

For case (iii), we see that  $\xi_i < \varepsilon_i$  for all *i* since  $V_i(x_i) > L - \varepsilon_i$ . We first show that

$$\frac{\varepsilon_i}{\xi_i} \not\to \infty \quad \text{as } i \to \infty. \tag{3.28}$$

(We can choose subsequences if necessary.) On the contrary, making the transformations  $\hat{Z}_i(y) = Z_i/\varepsilon_i$  and  $y = \varepsilon_i^{-3/4}(x-x_i)$ , we see that  $\hat{Z}_i(0) = \min_{\Omega} \hat{Z}_i = \xi_i/\varepsilon_i$   $(\to 0 \text{ as } i \to \infty)$  and  $\hat{Z}_i$  satisfies the problem

$$\varepsilon_i^{3/2} T \Delta_y \hat{Z}_i - D \Delta_y^2 \hat{Z}_i = \lambda \hat{k}_i(\hat{Z}_i) \quad \text{in } \hat{\Omega}_i, \quad \hat{Z}_i = L/\varepsilon_i, \quad \Delta_y \hat{Z}_i = 0 \quad \text{on } \partial \hat{\Omega}_i, \quad (3.29)$$
where  $\hat{\Omega}_i = \{x_i = e^{-3/4} (x_i - x_i)\}, \quad x \in \Omega\}$  and

where  $\hat{\Omega}_i = \{y = \varepsilon_i^{-3/4} (x - x_i) \colon x \in \Omega\}$  and

$$\hat{k}_i(\hat{Z}_i) = \begin{cases} \frac{1}{\hat{Z}_i^2}, & \hat{Z}_i \ge 1, \\ 3 - 2\hat{Z}_i + \frac{\varepsilon_i}{L - \varepsilon_i} - 2\left(\frac{\varepsilon_i}{L - \varepsilon_i}\right)\hat{Z}_i + \left(\frac{\varepsilon_i}{L - \varepsilon_i}\right)\hat{Z}_i^2, & \hat{Z}_i < 1. \end{cases}$$

It is easily seen that  $\{|\hat{k}_i(\hat{Z}_i)|\}$  is bounded. Therefore, the regularity of  $\Delta^2$  implies that  $\hat{Z}_i \to \hat{Z}$  in  $C^3_{\text{loc}}(\mathbb{R}^2)$  as  $i \to \infty$  with  $\hat{Z}(0) = \min_{\mathbb{R}^2} \hat{Z} = 0$ , and  $\hat{Z} \in C^4(\mathbb{R}^2)$  satisfies the equation

$$-D\Delta^2 \hat{Z} = \lambda \hat{k}(\hat{Z}) \quad \text{in } \mathbb{R}^2,$$

where

$$\hat{k}(\hat{Z}) = \begin{cases} \hat{Z}^{-2}, & \hat{Z} \geqslant 1, \\ \\ 3 - 2\hat{Z}, & \hat{Z} < 1. \end{cases}$$

We know from remark 2.4 that  $\hat{Z}$  does not exist. This contradiction implies that (3.28) does not hold. Therefore, there exists  $A_2 \ge 1$  such that

$$\frac{\varepsilon_i}{\xi_i} \to A_2 \quad \text{as } i \to \infty.$$
 (3.30)

(We can choose subsequences if necessary.) Making the transformations  $\underline{Z}_i(y) = Z_i/\xi_i$  and  $y = \xi^{-3/4}(x - x_i)$ , we see that  $\underline{Z}_i(0) = \min_{\Omega} \underline{Z}_i = 1$  and  $\underline{Z}_i \ge 1$  satisfies the problem

 $\begin{aligned} \xi_i^{3/2} T \Delta_y \underline{Z}_i - D \Delta_y^2 \underline{Z}_i &= \lambda \underline{k}_i (\underline{Z}_i) \quad \text{in } \underline{\Omega}_i, \quad \underline{Z}_i = L/\xi_i, \quad \Delta_y \underline{Z}_i = 0 \quad \text{on } \underline{\Omega}_i, \quad (3.31) \end{aligned}$ where  $\underline{\Omega}_i &= \{ y = \xi_i^{-3/4} (x - x_i) \colon x \in \Omega \}$  and

$$\underline{k}_{i}(\underline{Z}_{i}) = \begin{cases} \frac{1}{\underline{Z}_{i}^{2}}, & \underline{Z}_{i} \geq \frac{\varepsilon_{i}}{\xi_{i}}, \\ 3\left(\frac{\xi_{i}}{\varepsilon_{i}}\right)^{2} - 2\left(\frac{\xi_{i}}{\varepsilon_{i}}\right)^{3}\underline{Z}_{i} + \frac{\xi_{i}^{2}}{\varepsilon_{i}(L - \varepsilon_{i})} \\ -2\left(\frac{\xi_{i}^{3}}{\varepsilon_{i}^{2}(L - \varepsilon_{i})}\right)\underline{Z}_{i} + \left(\frac{\xi_{i}^{4}}{\varepsilon_{i}^{3}(L - \varepsilon_{i})}\right)\underline{Z}_{i}^{2}, & \underline{Z}_{i} < \frac{\varepsilon_{i}}{\xi_{i}}. \end{cases}$$

Note that  $\{|\underline{k}_i(\underline{Z}_i)|\}$  is bounded and  $\xi_i^{-3/4} \operatorname{dist}(x_i, \partial \Omega) \to \infty$  as  $i \to \infty$  (see (3.12)). Thus, the regularity of  $\Delta^2$  implies that  $\underline{Z}_i \to \underline{Z}$  in  $C^3_{\operatorname{loc}}(\mathbb{R}^2)$  as  $i \to \infty$  with  $\underline{Z}(0) = \min_{\mathbb{R}^2} \underline{Z} = 1$ , and  $\underline{Z}$  satisfies the equation

$$-D\Delta^2 \underline{Z} = \lambda \underline{k}(\underline{Z}) \quad \text{in } \mathbb{R}^2,$$

where

548

$$k(Z) = Z^{-2}$$

provided  $A_2 = 1$  and

$$\underline{k}(\underline{Z}) = \begin{cases} \underline{Z}^{-2}, & \underline{Z} \ge A_2, \\ \\ \frac{3}{A_2^2} - \frac{2}{A_2^3} \underline{Z}, & \underline{Z} < A_2, \end{cases}$$

provided  $A_2 > 1$ . We know from theorem 2.1 and remark 2.4 that  $\underline{Z}$  does not exist. This contradiction implies that case (iii) does not occur.

The above arguments imply that

$$\max_{\Omega} V_{\varepsilon,\lambda} \leqslant L - \varepsilon$$

for  $\varepsilon$  sufficiently small. Actually, arguments similar to those above imply that there exists  $\delta > 0$  independent of  $\varepsilon$  such that

$$V_{\varepsilon,\lambda} \leq L - \delta$$
 in  $\Omega$ ,

for  $\varepsilon$  sufficiently small. This completes the proof of this theorem.

REMARK 3.3. We can also obtain the same asymptotic behaviour as in theorem 8.2 of [4] of the mountain-pass solutions as  $\lambda \to 0^+$  by arguments similar to those in the proof of theorem 8.2 of [4].

## Acknowledgements

We thank the referee for valuable suggestions and corrections. The research of Z.M.G. was supported by an NSFC grant (10871060).

## References

- 1 E. N. Dancer. On the number of positive solutions of weakly non-linear elliptic equations when a parameter is large. *Proc. Lond. Math. Soc.* **53** (1986), 429–452.
- 2 E. N. Dancer. Moving plane methods for systems on half spaces. *Math. Annalen* **342** (2008), 245–254.
- 3 D. Gilbarg and N. Trudinger. *Elliptic partial differential equations of second order* (Springer, 1977).
- 4 Z. M. Guo and J. C. Wei. On a fourth order nonlinear elliptic equation with negative exponent. *SIAM J. Math. Analysis* **40** (2009), 2034–2054.
- 5 F. H. Lin and Y. S. Yang. Nonlinear non-local elliptic equation modelling electrostatic actuation. *Proc. R. Soc. Lond.* A **463** (2007), 1323–1337.

(Issued 10 June 2011)

https://doi.org/10.1017/S0308210509001061 Published online by Cambridge University Press